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LINEAR EQUATIONS IN TWO VARIABLES

Solved Examples

1.Show that x = 3 and y = 2is a solution of 5z — 3y = 9

° Watch Video Solution

2.Showthaz = 5, y = 2is a solution of the system of linear equation

2r +3y=16,z — 2y =1

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6MzsGvbO0hrA
https://dl.doubtnut.com/l/_jy1gN0edZ6Fk
https://dl.doubtnut.com/l/_dYSpWOqCwGhi

3. Show that * = 3,y = 2 is not a solution of the system of linear

equations 3z — 2y =5,2x +y =7

° Watch Video Solution

4. Solve graphically the system of linear  equations

x+2y=3,4x + 3y = 2

° Watch Video Solution

5. Solve graphically the system of linear equations
dr —5y+ 16 =0 and 2z +y— 6 = 0.
Determine the vertices of the vertices of the triangle formed by these

lines and the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_dYSpWOqCwGhi
https://dl.doubtnut.com/l/_aPt7RsRdv6fo
https://dl.doubtnut.com/l/_rxEpkceUpEbh

6. Solve the following system of linear equations graphically:
dr — 5y — 20 =0, 3x + by — 15 = 0 Determine the vertices of the
triangle formed by the lines representing the above equation and the y-

axis.

o Watch Video Solution

7.Solve the following system of linear equation graphically and shade the
region between the two lines and X-axis.

3z+2—11=0, 2z —3y+10=0

o Watch Video Solution

8. Solve the following system of linear equations graphically:
3r +y—11=0, = —y—1=0.Shade the region bounded by these
lines and y-axis. Also, find the area of the region bounded by these lines

and y-axis.
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https://dl.doubtnut.com/l/_ywwHFJq6GU6d
https://dl.doubtnut.com/l/_59CNEXNPNPu2
https://dl.doubtnut.com/l/_f46RVwkBfSxD
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9. Show  graphically that the  system of

3r —y =2 9z — 3y = 6 has infinitely many solutions.

equations

° Watch Video Solution

10. Show graphically that the system of linear equations.
2 — 3y =5,6y —4x = 3

in inconsistent, i.e., has no solution.

° Watch Video Solution

11. Show graphically that the system of linear equations
xr—y=28,3x —3y =16

is inconsisten, i.e., has no solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_f46RVwkBfSxD
https://dl.doubtnut.com/l/_k1x98SwOIy5H
https://dl.doubtnut.com/l/_a1YkleaBcEns
https://dl.doubtnut.com/l/_aybRBUsbmSOW
https://dl.doubtnut.com/l/_cT1MhuRdjajW

12. Solve for x and y, using substitution method :

2r+y="74c —3y+1=0

A (2,3)

B.(3,2)

C.(2,4)

D. (1,3)

Answer: A

o Watch Video Solution

13.Solve for  and y:

3x oY T Y 13
— _ L = _9 4L L -
2 3 ’3+2 6
A.(3,2)
B. (2, 3)

C.(2,4)


https://dl.doubtnut.com/l/_cT1MhuRdjajW
https://dl.doubtnut.com/l/_ok61AEkLx7I3

D. (4, 2)

Answer: B

° Watch Video Solution

14. Solve for z and y

10z 4+ 3y = 75, 6z — 5y = 11
A (1,2)
B. (2, 3)
C.(5,6)

D. (6, 5)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ok61AEkLx7I3
https://dl.doubtnut.com/l/_hlaDAvGK4EhP

15. Solve the following system

11z + 15y +23=0, Tz —2y—20=0

of

equations:

° Watch Video Solution

16. Solve for  and y:

0.4z — 1.5y = 6.5,

0.3z + 0.2y = 0.9.

Azrxz= —bandy= —3

B.z =5andy= —3

Cx=5andy =3

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_j0TY0h5z9moJ
https://dl.doubtnut.com/l/_KBz2c1SFJnje

17. Solve the following system of

— + 3y =8, g—4y: —5
Az =1,y=2
Bz =2,y=1
Cx=2,y=2
Dr=1,y=1

Answer: C

equations:

o Watch Video Solution

18. Solve for  and y:

2 3 5
—+—:13,——é: —2(z # 0 and y # 0)
L ) L Yy

° Watch Video Solution



https://dl.doubtnut.com/l/_W2rZ4RQj0tlt
https://dl.doubtnut.com/l/_oay20LydsPki

19. Solve for  and y:

1 1 1 1
- _ - _1. = - =
A. (6, 4)
B 1 1
. E,Z
C.(3,2)
b 1 1
. §,§
Answer: B

o Watch Video Solution

20. Solve for  and y:
1 1 1

1
R _:3,— —:5 0, 0
Tx + 6y 2z 3y (2 7#0,y70)

° Watch Video Solution



https://dl.doubtnut.com/l/_Y3kZnY8ffEgZ
https://dl.doubtnut.com/l/_q4F9ho4sqPwY

21.Solve for x and y:

30 B 50,23 9y o@£0,y#£0)
T Yy Ty

A(—a, — b

B.(—a,b)

C.(a, — b)

D. (a, b)
Answer: A

o Watch Video Solution

22.Solve for z and y:

6z + 3y = Tzy, 3z + 9y = 1lzy(x # 0,y # 0)


https://dl.doubtnut.com/l/_10s1ul2Wwxjx
https://dl.doubtnut.com/l/_P8ahYC27tx0T

Answer: D

° Watch Video Solution

23. Solve the following system of

Az=2andy=3

B.z =4andy =5

Cx=6andy=17

D.z =8andy =9

Answer: B

equations:

° Watch Video Solution



https://dl.doubtnut.com/l/_P8ahYC27tx0T
https://dl.doubtnut.com/l/_5XxFOZXF7cvn

24. Solve the following pairs of equation

15 22 40 95

for « and y,

4 = 5and + =13
r—y Tty r—Yy Tty
° Watch Video Solution
1 12 1 7 4
25. S l . —_ — _|_ — 2
e 2(2x + 3y) * 783z —2y) 2 2x+3y 3z-—2

where 2z + 3y # Oand3z — 2y # 0.

° Watch Video Solution

26. Solve for xand y :
2 3 4 9

W‘F%:Zﬁ_ﬁ: —].(.’B;é]_,y;ﬁ())

° Watch Video Solution

27.Solve the following system of linear equations. :

(a —b)z + (a + b)y = a® — 2ab — b*,


https://dl.doubtnut.com/l/_wvtyqxBGhaE1
https://dl.doubtnut.com/l/_HfIFkCGCi2MA
https://dl.doubtnut.com/l/_tybEPeKhkPS6
https://dl.doubtnut.com/l/_X8YDNzqsNupi

(a +b)(z +1y) = a® + b

° Watch Video Solution

28.Solve for ¢ & y:

ax +by=a—b, br—ay=a-+bd

A.23

B. 1,-1

C.1,2

D.ab

Answer: B

° Watch Video Solution

29. Solve the following pair of linear equations 2(ax-by) + (a + 4b) = 0 2(bx

+ay) +(b-40=0

| o= |


https://dl.doubtnut.com/l/_X8YDNzqsNupi
https://dl.doubtnut.com/l/_9lQOphes1LE1
https://dl.doubtnut.com/l/_FR8rinJlir2D

l & Watch Video Solution

b
a _ =a+ b,ar — by = 2ab

30. — —
b a

° Watch Video Solution

31.Solve for xand y /22 — /3y = 0, /bz + /2y = 0

A. (0,0)
B. (1,2)
C.(0,)

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FR8rinJlir2D
https://dl.doubtnut.com/l/_I5Qt97pEqPdF
https://dl.doubtnut.com/l/_Z5B5Q5gwLqdH

32.Solve forxand y,

37z + 43y = 123, 43z + 37y = 117

Az=1y=1
Br=2y=1
Cx=1y=2
D.x =2,y =2
Answer: C

o Watch Video Solution

33.Solve for xand y :

152z — 378y = — 74, — 378z 4 152y = — 604

o Watch Video Solution



https://dl.doubtnut.com/l/_kdFpbLsdV16p
https://dl.doubtnut.com/l/_OtKCFA0PA7vx
https://dl.doubtnut.com/l/_7wNShgs9gyQG

Cx=13,y=17

D.z =T,y =13

Answer: D

o Watch Video Solution

35. Solve the following system of
2 3 9 4 9 21
;+§:$—y, ;‘l‘g: w—y, Wherex#O, y?éo

equations:

o Watch Video Solution

36. Solve for xand y :
Ty 6 2xy

Ty "5 gy 0@ #0y#0amdaty)

Arz=1y=3


https://dl.doubtnut.com/l/_7wNShgs9gyQG
https://dl.doubtnut.com/l/_13wUi8ZSAQ9e
https://dl.doubtnut.com/l/_xht30CoKwXjH

Cz=3y=3
Dz=2,y=3
Answer: D

° Watch Video Solution

37. Solve the following system of equations:
Tx — 2 8x + 7
Tro2% o Bty

zyY zyY

o Watch Video Solution

38. Solve the following system of equations by using the method of cross-

multiplication: 2z + 3y =17, 3z — 2y =6


https://dl.doubtnut.com/l/_xht30CoKwXjH
https://dl.doubtnut.com/l/_PRVolVxhaucF
https://dl.doubtnut.com/l/_yQrDOakIMhs9

Answer: C

° Watch Video Solution

39. Solve the following by using cross multiplication method

dz —Ty+28=0,5y— Tz +9 =0

Azxz=4andy=>5

B.x =5andy =26

Cx=6andy=17

D.x =T7andy =8

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yQrDOakIMhs9
https://dl.doubtnut.com/l/_YSWk7EU5Va9C
https://dl.doubtnut.com/l/_lU90366daBeY

2 3 5 4
40.50lve — + — =13, — — — = — 2,wh .
OSovex+y 3’;1: ” wherez # 0 and y # 0

A.a::l y:l
2’7 3
B.x:l,y:l
4 6
C.zc:l,y:l
6 9
D.a::i,y:i
8 12
Answer: A

o Watch Video Solution

41.Solve:ax + by =¢, br+ay=1+c

o Watch Video Solution

42.Show that the system of equations
2¢ + by = 17,5z + 3y = 14

has a unique solution. Find the solution.



https://dl.doubtnut.com/l/_lU90366daBeY
https://dl.doubtnut.com/l/_9zPYnclND2kn
https://dl.doubtnut.com/l/_65KzX9nfRQZn

I ° Watch Video Solution \

43. Find the valus of k for which the system of equations
x—2y=3,3x+ky=1
has a unique solution.

Ak #6

B.k #4

Ck+8

D. None

Answer: A

o Watch Video Solution

44.Show that the system of equations
4z + 6y = 7,122 + 18y = 21

has infinitely many solutions.


https://dl.doubtnut.com/l/_65KzX9nfRQZn
https://dl.doubtnut.com/l/_c37FxTEeaZMN
https://dl.doubtnut.com/l/_AVf8hkT3Q1eq

° Watch Video Solution

45. Find the values of k for which the following pair of linear equations
has infinitely many solutions :

2c —3y="7,(k+ 1)z + (1 — 2k)y = (5k — 4).

° Watch Video Solution

46. For the following system of equations determine the value of k for
which  the given system has infinitely many solutions:

kx +3y=k—3, 12z +ky==%k

° Watch Video Solution

47.Find the value of k for which the following system of linear equations

has infinite solutions: z + (k+ )y =5, (k+ 1)z +9y =8k —1

° Watch Video Solution



https://dl.doubtnut.com/l/_AVf8hkT3Q1eq
https://dl.doubtnut.com/l/_IXm9Xb5PQQlU
https://dl.doubtnut.com/l/_kQboWwMU6jXT
https://dl.doubtnut.com/l/_y2YB4blFqSac

48. (i) For which values of a and b does the following pair of linear
equations have an infinite number of solutions?
20 +3y =17 (ab)z + (a + b)y = 3a + b2(ii) For which value of k

will the following pair of linear equations have

o Watch Video Solution

49. Find the value of m & n for which the system of Linear equation has
infinity many solutions. 3z + 4y = 12

(m+n)z+2(m —n)y=>5m —1

Am=5,n=1
B.m=5,n=2
Cm=6,n-=
Dm=7,n=1
Answer: A

[ o |


https://dl.doubtnut.com/l/_y2YB4blFqSac
https://dl.doubtnut.com/l/_zSISjCKGA8Jm
https://dl.doubtnut.com/l/_npXuT3nigZRe

l el Watch Video Solution J

50. Show that the system of equations
3z — by = 7,6z — 10y = 3.

has no solution.

o Watch Video Solution

51. For what value of k , will the system of equations
x+2y=5, 3x+ky—15=0 has (i) a unique solution? (ii) no

solution

o Watch Video Solution

52. For which value (s) of k will the pair of equations
kx + 3y =k — 3,
12z + ky = k

has no solution ?



https://dl.doubtnut.com/l/_npXuT3nigZRe
https://dl.doubtnut.com/l/_h7XyXxqY8pyw
https://dl.doubtnut.com/l/_MIYje0rDeTJB
https://dl.doubtnut.com/l/_Wn8euGmqBrZM

I ° Watch Video Solution

53. If the pair of linear equations (3k+ 1)z +3y—2=0 and

(k* + 1)z + (k — 2)y — 5 = 0 inconsistent, The value of k is

° Watch Video Solution

54. For what value of k will the following system of linear equations has

nosolution?3z +y=1, (2k—1l)z+ (k—1)y=2k+1

o Watch Video Solution

55. Find the values(s) of k for which the system of equations kx — y = 2
6z — 2y = 3 has (i) a unique solution (ii) no solution.Is there a value of k

for which the system has infinitely many solutions?

o Watch Video Solution



https://dl.doubtnut.com/l/_Wn8euGmqBrZM
https://dl.doubtnut.com/l/_lsow9LIjx5mB
https://dl.doubtnut.com/l/_UpKIWv9Oi8G3
https://dl.doubtnut.com/l/_N8oOZmYxmZSa
https://dl.doubtnut.com/l/_Ix3thmGEnEi0

56. Find the value of k for which the system of equations
3z +5y=0,kz + 10y =0

has a nonzero solution.

Ak=606
B.k=5
Ck=4
D.k=3
Answer: A

° Watch Video Solution

57.8 chairs and 5 tables for a classroom cost Rs.10500, while 5 chairs and

3 tables cost Rs. 6450. Find the cost of each chair and that of each table.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ix3thmGEnEi0
https://dl.doubtnut.com/l/_4jVN931BifAw

58.The coach of a cricket team buys 7 bats and 6 balls for ¥ 13200. Later,
he buys 3 bats and 5 balls for ¥ 5900. Find the cost of each bat and each

ball.

° Watch Video Solution

59. 37 pens and 53 pencils together cost ¥ 955, while 53 pens and 37

pencil together cost ¥ 1115. Find the cost of a pen and that of a pencil.

° Watch Video Solution

60. Taxi charges in a city consist of fixed charges and the remaining
depending upon the distance travelled in kilometres. If a person travels
60 km, he pays ¥ 960, and for travelling 80 km, he pays ¥ 1260. Find the

fixed charges and the rate per kilometre.

° Watch Video Solution



https://dl.doubtnut.com/l/_4vvgC5ctMklc
https://dl.doubtnut.com/l/_XKylk7SVCYHe
https://dl.doubtnut.com/l/_QGVfqMpRARFS
https://dl.doubtnut.com/l/_BhVfSC22C5vJ

61. A part of monthly hostel charges in a school is fixed and the remaining
depends on the number of days one has taken food in the mess. When a
student A takes food for 22 days, he has to pay ¥ 4250 as hostel charge,
whereas a student B, who takes food for 28 days, pays ¥ 5150 as hostel

charges. Find the fixed charges and the cost of food per day.

o Watch Video Solution

62. The monthly incomes of A and B are in the ratio 8:7 and their
expenditures are in the ratio 19: 16 . If each saves ¥ 5000 per month, find

the monthly income of each.

o Watch Video Solution

63. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper
gains Rs. 2000. But if he sells the T.V. at 10% gain and the fridge at 5%
loss. He gains Rs. 1500 on the transaction. Find the actual prices of T.V.

and fridge.

| e |


https://dl.doubtnut.com/l/_BhVfSC22C5vJ
https://dl.doubtnut.com/l/_2RLURWBbvVeV
https://dl.doubtnut.com/l/_FiySFa8rN2iL

l & Watch Video Solution J

64. A man invested an amount at 12 % per annum simple interest and
another amount at 10 % per annum simpel interest. He received an
annual interest fo ¥ 2600. But, if he had intercharged the amounts
invested, he would havr received ¥ 140 less. What amounts did he invest

at the different rates ?

o Watch Video Solution

65. A and B each has some money. If A gives Rs 30 to B, then B will
have twice the money left with A . But, if B gives Rs 10 to A , then A will

have thrice as much as is left with B . How much money does each have?

o Watch Video Solution

66. Students of a class are preparing for a drill and are made to stand in

rows. If 4 students are extra in a row, then there would be 2 rows less. But


https://dl.doubtnut.com/l/_FiySFa8rN2iL
https://dl.doubtnut.com/l/_wYFZq0xV08WG
https://dl.doubtnut.com/l/_OmW71OlZvwE0
https://dl.doubtnut.com/l/_r70Rh25BbPr6

there would be 4 more rows if 4 students are less in a row. The number of

students in the class is (a) 56 (b) 65 (c) 69 (d) 96

° Watch Video Solution

67. The sum of two numbers is 1000 and the difference between their

squares is 256000. Find the numbers.

° Watch Video Solution

68. If three times the larger of the two numbers is divided by the smaller
one, we get 4 as quotient and 3 as remainder. Also if seven times the
smaller number is divided by the larger one, we get 5 as quotient and 1 as

remainder . Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_r70Rh25BbPr6
https://dl.doubtnut.com/l/_OvyZEbwPNZfp
https://dl.doubtnut.com/l/_VG914DJcrtvm

69. The sum of two numbers is 8 and the sum of their reciprocals is EEh

Find the numbers.

A.3 and 5

B.4 and 5

C.6 and 5

D.4 and 6

Answer: A

o Watch Video Solution

70. The difference of two numbers is 4.If the difference of their reciprocals
is 4 find the numbers
ﬁ’
A3, 7and —3, — 7

B.5,9and — 5, — 9

C.7,11 and —7, — 11


https://dl.doubtnut.com/l/_9HvuQ6GV4Ex6
https://dl.doubtnut.com/l/_dzYzbp6HJUZr

D.9,13 and — 9, — 13

Answer: A

° Watch Video Solution

71. The sum of the digits of a two-digit number is 12. The number
obtained by interchanging its digits exceeds the given number by 18. Find
the number.

A. 53

B. 55

C.57

D. 59

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dzYzbp6HJUZr
https://dl.doubtnut.com/l/_yz2sjC8f5Bm0
https://dl.doubtnut.com/l/_srPW6jUl6dud

72.The sum of a two digit number and the number obtained by reversing

the order of its digits is 99. If the digits differ by 3, find the number.

o Watch Video Solution

73. Seven times a two -digit number is equal to four times the number
obtained by reversing the order of its digits. If the difference between the
digits is 3, find the number.

A.30

B. 32

C.34

D. 36

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_srPW6jUl6dud
https://dl.doubtnut.com/l/_Xgt5qCi5EHaC

74. A two - digit number is such that product of its digits is 14. If 45 is

added to the number, the digits interchange their places. Find the

number.
Az =2,y=17
Bz =3,y=7
Cx=2,y=6
Dz =4,y=7
Answer: A

o Watch Video Solution

75. If two digit number is four times the sum of its digits and twice the

product of digits. Find the number.

A. 36

B.63


https://dl.doubtnut.com/l/_DG7PuuAM1EYh
https://dl.doubtnut.com/l/_KRYZE4stw4Vj

C.42

D. 24

Answer: A

° Watch Video Solution

1
76. A fraction becomes 3 if 2 is added to both of its numerator and
denominator. If 3 is added to both of its numerator and denominator

2
then it becomes g Find the fraction.

° Watch Video Solution

77. The sum of numerator and denominator of a fraction is 3 less than
twice the denominator. If each of the numerator and denominator is

decreased by 1,the fraction becomes 1/2 Find the fraction.

° Watch Video Solution



https://dl.doubtnut.com/l/_KRYZE4stw4Vj
https://dl.doubtnut.com/l/_hQrBQEz4M99G
https://dl.doubtnut.com/l/_xyT1mxYEiW6Z
https://dl.doubtnut.com/l/_szz90OZ5mde0

78.1f the numerator of a fraction is multiplied by 2 and the denominator
is reduced by 5 the fraction becomes 6/5. And, if the denominator is
doubled and the numerator is increased by 8, the fraction becomes 2/5.

Find the fraction.

° Watch Video Solution

79. Five years ago, A was thrice as old as B and 10 years later, A shall be

twice as old as B. What are the present ages of A and B?

° Watch Video Solution

80. Fathers age is three times the sum of ages of his two children. After 5
years his age will be twice the sum of ages of two children. Find the age

of father.

° Watch Video Solution



https://dl.doubtnut.com/l/_szz90OZ5mde0
https://dl.doubtnut.com/l/_FfKclkGPiOIF
https://dl.doubtnut.com/l/_D7873TSFb4sI
https://dl.doubtnut.com/l/_NMy7vPz32MFP

81. A man travels 370 km partly by train and partly by car. If he covers 250
km by train and the rest by car, it takes him 4 hours. But, if he travels 130
km by train and the rest by car, he takes 18 minutes longer. Find the speed

of the train and that of the car.

° Watch Video Solution

82. Places A and B are 100 km apart on a highway. One car starts from A
and another from b at the same time. If the cars travel in the same
direction at different speeds, they meet in 5 hours. If they travel towards

each other, they meet in 1 hour. What are the speeds of the two cars

° Watch Video Solution

83. A train covered a certain distance at a uniform speed. If the train had
been 6 km/hr faster than it would have taken 4 hours less than tit

scheduled time. And, if the train were slows by 6 km/hr, then the train


https://dl.doubtnut.com/l/_NMy7vPz32MFP
https://dl.doubtnut.com/l/_Xp78fXcyBo0A
https://dl.doubtnut.com/l/_ubXnbQBiQBCK

would have take 6 hours more than the scheduled time. The lengt1 of the

journey is 700 km b. 720 km c. 740 km d. 760 km

° Watch Video Solution

84. Ritu can row downstream 20 km in 2 hours, and upstream 4 km in 2
hours. Find her speed of rowing in still water and the speed of the

current.

° Watch Video Solution

85. A boat goes 16 km upstream and 24 km downstream in 6 hrs. Also it
covers 12 km upstream and 36 km downstream in the same time. Find the

speed of the boat upstream and downstream

° Watch Video Solution



https://dl.doubtnut.com/l/_ubXnbQBiQBCK
https://dl.doubtnut.com/l/_uwf6VB91KvB4
https://dl.doubtnut.com/l/_bULz05Pz0J1z

86.8 men and 12 boys can finish a piece of work in 5 days, while 6 men and
8 boys can finish it in 7 days. Find the time taken by 1 man along and that

by 1 boy alone to finish the work.

° Watch Video Solution

87. If the length of a rectangle is reduced by 5 units and its breadth is
increased by 2 units then the area of the rectangle is reduced by 80 sq
units. However, if we increase its length by 10 units and decrease the
breadth by 5 units, its area increased by 50 sq units. Find the length and

breadth of the rectangle.

° Watch Video Solution

88.Ina AABC, /C = 3,/B = 2(/A + /B), then /B=?

° Watch Video Solution



https://dl.doubtnut.com/l/_ReqMSfr1YITt
https://dl.doubtnut.com/l/_cYOZRY0vDbDP
https://dl.doubtnut.com/l/_ZWcIVakcqH9m
https://dl.doubtnut.com/l/_ZlKG4JSvKa0q

89. Find the four angles of a cyclic quadrilateral ABCD in which
LA = (2z — 1)o , /B = (y+5)o £LC = (2y + 15)o and
/4D = (4 — 7)o.
A LA=750,/LB=550,£C=15cand LD=115¢
B.LA=650,/B=550,/£C=1250and LD=1150¢
C.LA=650°,/LB=550,/C=150cand LD=115¢

D.LA=650°,/LB=550°,/C=150and LD=125¢°

Answer: D

o Watch Video Solution

1.Solve: 2 + 3y = 2, — 2y = 8

Az =4y=2


https://dl.doubtnut.com/l/_ZlKG4JSvKa0q
https://dl.doubtnut.com/l/_vvauW7NtHzNk

Cz=6y=3
Dz =7,y=1
Answer: A

o Watch Video Solution

3z +2y=14
2 —3y="7

° Watch Video Solution

3.2z + 3y = §,

T —2y+3=0

° Watch Video Solution



https://dl.doubtnut.com/l/_vvauW7NtHzNk
https://dl.doubtnut.com/l/_fLpNF0MJr6ZD
https://dl.doubtnut.com/l/_ORba5rmwCdGP

4.2x —5y+4 =0,

2r +y—8=0

o Watch Video Solution

5.3z + 2y = 12,

Sr — 2y = 4.

o Watch Video Solution

6. Solve the following system of equations graphically:
3cr+y+1=0; 22 —3y+8=20

o Watch Video Solution
7. Solve the following system of equations graphically:

2r +3y+5=0; 3x—2y—12=0



https://dl.doubtnut.com/l/_0KSUBYERBj7n
https://dl.doubtnut.com/l/_OL3AuGJrNbUQ
https://dl.doubtnut.com/l/_Ylkbmbl6vOLT
https://dl.doubtnut.com/l/_SoVEGhdTrmQo

| &J Watch Video Solution

8. Solve the following system of equations

2¢ —3y+13=0; 3z —2y+12=0

graphically:

o Watch Video Solution

9.2x +3y—4=20,

3r —y+5=0

o Watch Video Solution

10.z +2y+2=0,

3z +2y—2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_SoVEGhdTrmQo
https://dl.doubtnut.com/l/_w8fMyhy5Zh8x
https://dl.doubtnut.com/l/_oAgLCFTD3Lcq
https://dl.doubtnut.com/l/_maMC7sF0zzOK

11. Find the value of x and y

xr—y+3=0,2x+3y—4=0.

o Watch Video Solution

12. Find the value of x and y from the given pair of linear equations:

2 —3y+4=0,z+2y—5=0

o Watch Video Solution

3.4 —3y+4=0,4z 4+ 3y — 20 = 0.

o Watch Video Solution

4,2 —-y= —1,3z — 2y =12

o Watch Video Solution



https://dl.doubtnut.com/l/_kfGNAE0a13Jx
https://dl.doubtnut.com/l/_6MYrKJ9PZJWn
https://dl.doubtnut.com/l/_gTkr8KKj7bRy
https://dl.doubtnut.com/l/_SPnMqfvSjMSE
https://dl.doubtnut.com/l/_FqsDPwmmtbBn

5.2 - 2y+2=0,2z+y—6=0

° Watch Video Solution

16. Solve the following system of equations graphically:
2c —3y+6 =0, 2x+4 3y — 18 = 0 Also, find the area of the region

bounded by these two lines and y-axis.

° Watch Video Solution

17. Solve the following system of equations graphically:
dr —y =4, 3z + 2y = 14 . Shade the region between the lines and

the y-axis.

° Watch Video Solution

18z—-—y—5=0,3z+5 —15=0

a4 = ]



https://dl.doubtnut.com/l/_FqsDPwmmtbBn
https://dl.doubtnut.com/l/_U0oYuJooAMIO
https://dl.doubtnut.com/l/_8kAnNU7AUzAe
https://dl.doubtnut.com/l/_6HQJdbI4cYe3

| ¥ VWatch Video Solution ]

19. Solve graphically following system of linear equations. Also find the
coordinates of the points where the lines meet axis of y

2r —5y+4=0, 2x+y—8=0

° Watch Video Solution

205z —y—7=0,z—y+1=0

° Watch Video Solution

2.2z — 3y = 12, = 4 3y = 6.

° Watch Video Solution

22. Show graphically that following system of equations has infinitely

many solutions: 2z + 3y = 6; 4x + 6y = 12


https://dl.doubtnut.com/l/_6HQJdbI4cYe3
https://dl.doubtnut.com/l/_EXhJX8QHRM3O
https://dl.doubtnut.com/l/_Jju0VGyG2FEm
https://dl.doubtnut.com/l/_C5ZZxyqOxRCF
https://dl.doubtnut.com/l/_CP71coom6Wbw

° Watch Video Solution

23.3z — y = 5, 6 — 2y = 10.

° Watch Video Solution

24.2x + y = 6, 6 + 3y = 18.

° Watch Video Solution

25. Show graphically that following system of equations has infinitely

many solutions: ¢ — 2y = 5; 3z — 6y = 15

° Watch Video Solution

26. Solve the following system of equations graphically:

xT—2y==6; 3z —6y=20



https://dl.doubtnut.com/l/_CP71coom6Wbw
https://dl.doubtnut.com/l/_72OYrr9Mu4zt
https://dl.doubtnut.com/l/_zlqlellKwgVH
https://dl.doubtnut.com/l/_jLtlYtefhSop
https://dl.doubtnut.com/l/_gWVHX4S0mIXf

| ° Watch Video Solution

27.2x + 3y = 4, 4x + 6y = 12.

° Watch Video Solution

28.show graphically that system of equations 2z + y = 6, 6z + 3y = 18.

has infinitely many solutions.

° Watch Video Solution

29. Draw the graphs of the following equations on the same graph paper:
2 +y=2; 2x + y = 6. Find the coordinates of the vertices of the
trapezium formed by these lines. Also, find the area of the trapezium so

formed.

° Watch Video Solution



https://dl.doubtnut.com/l/_gWVHX4S0mIXf
https://dl.doubtnut.com/l/_TbHX2jelVN3q
https://dl.doubtnut.com/l/_sFWWl3CZHPIc
https://dl.doubtnut.com/l/_pCcBzPs95fIa

1.Solve: x + y = 3,

4z — 3y = 26.
Az =5y= —2
Bz =6,y= —2
Cz=5y= —1
Dz =7,y= —2
Answer: A

° Watch Video Solution

2. solve:

w—y=3,%+

Az =8y==6


https://dl.doubtnut.com/l/_YAnI4w3JnFtj
https://dl.doubtnut.com/l/_AXreHdZ9Aaoo

Cxz=9y=6
Dz =9,y=25
Answer: C

° Watch Video Solution

3.2z + 3y = 0,

3z + 4y = 5.

Az =15y=15

Czxz =15,y =10

D.z =15,y= —10

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AXreHdZ9Aaoo
https://dl.doubtnut.com/l/_9pB4vQpF1LCh

4.2r — 3y = 13; 7x — 2y = 20

Az =2,y= —3

Brx= —2,y= —3

Cx=2,y=3

Dz =12, y= —3
Answer: A

° Watch Video Solution

5.3x — 5y — 19 =0,

—Tx+3y+1=0

Bz = —2,y=>5.

Cx= —12,y= — 5.


https://dl.doubtnut.com/l/_9pB4vQpF1LCh
https://dl.doubtnut.com/l/_5509OPdT9YAw
https://dl.doubtnut.com/l/_c2qjkxZSqj7T

Dz = —2,y= —15.

Answer: A

° Watch Video Solution

6. Solve the following system of

3t —Ty+10=0, y—2x—-3=0

Az= —1,y=13

Bz= —1l,y=1

Cz= —-1y=4

D= —2,y=1
Answer: B

equations:

° Watch Video Solution



https://dl.doubtnut.com/l/_c2qjkxZSqj7T
https://dl.doubtnut.com/l/_luSTLa4skcU4

7.Find x and y __526’
T Y
— 4+ = =5
773
Az=14y=9

B.z =15,y =9

Cx=14,y=3

D.z =16,y =9

Answer: A

o Watch Video Solution

8. Solve the following system
x Y 5z Y

—+=—=11, — - = -7

371 6 3

Az =16y =36

B.z =6,y= — 36

Czx=6,y=36

of

equations:


https://dl.doubtnut.com/l/_zQWAicZWLHTc
https://dl.doubtnut.com/l/_2CxJ7UO0zgHK

D.z = — 6,y = 36

Answer: C

° Watch Video Solution

29
9.4w—3y:8,6x—y:?

° Watch Video Solution

3y
10.22 — — =
0.2x 1 3,
br =2y + 7.
Az =3y=4
Bz= —3,y=4
Cz=3y= —4


https://dl.doubtnut.com/l/_2CxJ7UO0zgHK
https://dl.doubtnut.com/l/_YJ5i0feZuefy
https://dl.doubtnut.com/l/_v2DtQPts6WWB

Answer: A

o Watch Video Solution

8 5
11.2x+5y:§,3m—2y=6

o Watch Video Solution

1222z + 3y +1 =0,

7 — 4z
3 Y
Arz=4,y= —3
Bz =2,y= —3
Cx=4y= —14
D.z =5y= —3
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_v2DtQPts6WWB
https://dl.doubtnut.com/l/_2xHKPicBJJRy
https://dl.doubtnut.com/l/_Q3ywqbOJrOp0

13.0.4z + 0.3y = 1.7,

0.7z — 0.2y = 0.8

o Watch Video Solution

14.1f 0.5 4+ 0.7y = 0.74 and 0.3z + 0.5y = 0.5 then

o Watch Video Solution

15. Solve the following system of

Ty+3)—2z+2)=14, 4(y—2)+3z—-3) =2

equations:

o Watch Video Solution

16.62 + 5y = Tz + 3y + 1 = 2(x + 6y — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_Q3ywqbOJrOp0
https://dl.doubtnut.com/l/_HOGK6JB3f7Of
https://dl.doubtnut.com/l/_YhWrgQn7hkNk
https://dl.doubtnut.com/l/_7kJP1Y4rNE17
https://dl.doubtnut.com/l/_S0aPYpjI4Fwt

7 r+y—-8 =z+2y—14 3zt+y—12

2 - 3

11

° Watch Video Solution

5
18. — =1
p + 6y 3,

g+4y=7(x7é0)

° Watch Video Solution

6
19.2 + — = 6,
Yy

8
3w—§:5(y750)

o Watch Video Solution

20. Solve the following

3 7
2z —— =9, 3z+ — =2, 0
” ” y#

system

of

equations:



https://dl.doubtnut.com/l/_S0aPYpjI4Fwt
https://dl.doubtnut.com/l/_VpPz02WeuAam
https://dl.doubtnut.com/l/_4AqqJYgd24Oq
https://dl.doubtnut.com/l/_4M6iVqxG7Vmw
https://dl.doubtnut.com/l/_cW0KBujoeet1

l & Watch Video Solution

° Watch Video Solution

9

22.——i=8,
z Yy

13 7

— + — =101

z T3y 01(z # 0,y # 0)
A _1 _1
B _1 _1
x_Zay_7
c _1 _1
b _1 _1
-m—gay—7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cW0KBujoeet1
https://dl.doubtnut.com/l/_adOylZE6LCzO
https://dl.doubtnut.com/l/_hcwo8CKmTjDj
https://dl.doubtnut.com/l/_q5VEvxjBql83

23.
3
2z

3
- =1,
Y

8| o
KS

+ - =5z #0,y#0)

o

Y

° Watch Video Solution

L B0y 20)

3x+2y_7

° Watch Video Solution

25.4x + 6y = 3zy,

8z + 9y = Sxy(z # 0,y # 0)

° Watch Video Solution

26.x + y = Sz,

3z + 2y = 13zy(z # 0,y # 0)



https://dl.doubtnut.com/l/_q5VEvxjBql83
https://dl.doubtnut.com/l/_Mks3MmP7MEFf
https://dl.doubtnut.com/l/_lUducIMFMFL1
https://dl.doubtnut.com/l/_LhJHuhpDY6gg

I & Watch Video Solution I

27. Solve the following system of equations:
5 2 15 7
— = —1, + =10
r+y r—y r+y r—y
° Watch Video Solution
3 2 9
28. Solve : + = 2 and _ 4 =1L
r+y r—y r+y r—y
o Watch Video Solution
29 5 2 1
x4+l y—1 2’
10 2 5
= — — 1 and 1
ps 5 &7 and y #
° Watch Video Solution
44 30 95 4
30. + =10 + 0 =13
r+y r—y Tty r—vy



https://dl.doubtnut.com/l/_LhJHuhpDY6gg
https://dl.doubtnut.com/l/_Zmh7JRU2DthH
https://dl.doubtnut.com/l/_0R5HjCqlpIi4
https://dl.doubtnut.com/l/_LUay4Iqgvcfs
https://dl.doubtnut.com/l/_o8NW23VvKNWX

| ¥ vvatch Video Solution

31. 10 + 2 = 4,
T+y zT-yY
I 9 _ 9

Tty zT-yY
szﬂyzg

8’ 8
B.mzﬂyzg
4’ 8
21 9
Cz=-—2y= -3

Answer: A

° Watch Video Solution

32.Solve For xand y: Tlx + 37y = 253,

37x + 71y = 287.

° Watch Video Solution



https://dl.doubtnut.com/l/_o8NW23VvKNWX
https://dl.doubtnut.com/l/_7cvdU2BNceh6
https://dl.doubtnut.com/l/_8BaUOhh5SutY
https://dl.doubtnut.com/l/_2n3TAy1OelLc

217z + 131y = 913
T 131z + 217y = 827

o Watch Video Solution

34. Solve the given pair of equations:
23z — 29y = 98,

29z — 23y = 110

o Watch Video Solution

2x + 5
35.—y=6

LY
dr — 5y

Ty

I

-3

° Watch Video Solution

1 1 3 1
36

: + =,
3x+y 3r—y 4 208z+y)

o Watch Video Solution



https://dl.doubtnut.com/l/_2n3TAy1OelLc
https://dl.doubtnut.com/l/_Yhw8EZzHk7Xt
https://dl.doubtnut.com/l/_1opNfdFcPEwF
https://dl.doubtnut.com/l/_SpS6I8V4uVz0

5 -3

1 + _ -3

2(z+2y) 3(3z—2y) 2
37. 5 B 3 6
4(z+2y) 5(3c—2y) 60

° Watch Video Solution

38. Solve the following system of equations:

2 3 17 5 1

3m—|—2y+3m—2y:?’ 3x+2y+3x—2y:2

° Watch Video Solution

39. Solve for z and y:

6z + 3y = Tzy, 3z + 9y = 1llzy(x # 0,y # 0)

° Watch Video Solution

40.x +y=a+ b, ar — by = a® — b

I ° Watch Video Solution


https://dl.doubtnut.com/l/_SpS6I8V4uVz0
https://dl.doubtnut.com/l/_XqlszQ9zq6hX
https://dl.doubtnut.com/l/_q2oMuHdbBtbR
https://dl.doubtnut.com/l/_xbwXjPqg0aQq
https://dl.doubtnut.com/l/_Z5N4hn6hz5UG

Y

M.solve: L + ¥ — o 4 —by=a? -0
a

b

° Watch Video Solution

42, Solve for x and y

pPr+qy=p—q¢qx —py=p+q

Az=1y= —1

Br=2y= —2

Cx=3,y= —3

Dz =4y= —4
Answer: A

by

Cross-

multiplication

o Watch Video Solution



https://dl.doubtnut.com/l/_Z5N4hn6hz5UG
https://dl.doubtnut.com/l/_du3dtA8A2DFU
https://dl.doubtnut.com/l/_bUbbcjBIJwgy

43.%—%:O,ax+by:a2+b2

o Watch Video Solution

44.6(ax + by) = 3a + 2b & 6(bx — ay) = 3b — 2a

o Watch Video Solution

ar —by=a’® + b

45.
T+ y=2a

Solve the above equations
Arz=a—-by=a—0>
Bx=a—by=a+b
Czx=a+by=a-0>

D. none of these

Answer: C



https://dl.doubtnut.com/l/_JS07m2odHWOe
https://dl.doubtnut.com/l/_4sxWi1biSNnr
https://dl.doubtnut.com/l/_og0ZNy0ONsXB

[ @ Watch Video Solution

46.b—m—%y+a—|—b20and bxr — ay + 2ab
a

o Watch Video Solution

b
47. 2= + 20 _ 2
a b

x + vy = 2ab

° Watch Video Solution

48.x +y=a+bar —by=a® -1

° Watch Video Solution

49, Solve for x and y a’z + b’y = ¢,

Ve + o’y = d?

|a....--.-- -1


https://dl.doubtnut.com/l/_og0ZNy0ONsXB
https://dl.doubtnut.com/l/_MBklKepQF6PS
https://dl.doubtnut.com/l/_Flm8HufckH8F
https://dl.doubtnut.com/l/_RJNHCtaLu1KU
https://dl.doubtnut.com/l/_SxTjCvWQlCKc

L vvatcn viaeo ooiution

50. Solve: z + y =a-+b
a b

T y_
§+b—2—2

find xand y

° Watch Video Solution

1. Solve
x+2y+1=0

2¢ —3y—12=0

Az = —3,y= —2
Bz =3, y= —2
Cz=3y=2


https://dl.doubtnut.com/l/_SxTjCvWQlCKc
https://dl.doubtnut.com/l/_Q02WvtmjMDIa
https://dl.doubtnut.com/l/_AXCh217oaiG4

Answer: B

° Watch Video Solution

2.3z —2y+3=0;4c + 3y —47=0

o Watch Video Solution

3.6z — 5y — 16 = 0,

7z — 13y + 10 = 0.

o Watch Video Solution

4. Solve the following system of equations by method of cross-

multiplication: 3=z + 2y +25 =0, 2x+y+10=0


https://dl.doubtnut.com/l/_AXCh217oaiG4
https://dl.doubtnut.com/l/_5WACCeORU4mD
https://dl.doubtnut.com/l/_WFmPh9WdrvW7
https://dl.doubtnut.com/l/_yeb21E9azP3k

Answer: D

° Watch Video Solution

5.2x + 5y =1,

2z + 3y = 3.

° Watch Video Solution

6. Solve the following system of equations by method of cross-

multiplication: 2z + y = 35, 3x 4+ 4y = 65

Az =5y=>5

B.z =10,y =5

Cx=15,y=5


https://dl.doubtnut.com/l/_yeb21E9azP3k
https://dl.doubtnut.com/l/_u3hofLu1Qkuk
https://dl.doubtnut.com/l/_XkYE7GWltBQI

D.z =20,y =5

Answer: C

° Watch Video Solution

7.7Tx — 2y = 3,

22z — 3y = 16.

° Watch Video Solution

T Yy _
83+15_4
Tz _ Y _ 19

3 12~ 4

° Watch Video Solution

1 1
9.— 4+ —=1,
L Y
2
;—I— =17(x #0,y #0) .

< | w +

| o WMl L\ dan C Al iklmn


https://dl.doubtnut.com/l/_XkYE7GWltBQI
https://dl.doubtnut.com/l/_nTsMrlMJVJo1
https://dl.doubtnut.com/l/_YGmTDLhUqFrM
https://dl.doubtnut.com/l/_LMfmpHsRp5gI

L —rvvatlll VIUCU JUViuuivil )

5 9
10. _ +1=0,
(z+y) (z—y)
15

(w+w+(;w—ﬂﬂzmw#%m#—y)

° Watch Video Solution

axr

1. —
b

%:a+b,ax—by:2ab

° Watch Video Solution

12. Solve the following system of equations by method of cross-

multiplication: 2ax + 3by = a + 2b, 3ax + 2by = 2a + b

(5b — a) (5a — b)
A= VT T
Bx:(5a_b) y:(5b—a)
' da 4b

(4b — a) (4a — b)
Cr=—r—y=——"+

5b 5a


https://dl.doubtnut.com/l/_LMfmpHsRp5gI
https://dl.doubtnut.com/l/_6HCUSe2tj8C2
https://dl.doubtnut.com/l/_NLuah655bn5U
https://dl.doubtnut.com/l/_ykABAwkXJ7PP

5a 5b
Answer: D
° Watch Video Solution
b b2 2p
pe_b_g @ T sy
T Y T
find xand y

° Watch Video Solution

1.3z + by = 12,5z + 3y = 4.

° Watch Video Solution

2¢ — 3y = 17
Tdx +y =13


https://dl.doubtnut.com/l/_ykABAwkXJ7PP
https://dl.doubtnut.com/l/_bX4wt1LSg2Hn
https://dl.doubtnut.com/l/_qosQjwjdM7m2
https://dl.doubtnut.com/l/_ox2PymCMLD9Q

o Watch Video Solution

T y
3.3 72
x—2y=2

° Watch Video Solution

2 —3y—5=0
"kr —6y—8=0

° Watch Video Solution

sw—ky:2
"3z +2y= —5

° Watch Video Solution

6.5c —Ty—5=0,2z+ky—1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_ox2PymCMLD9Q
https://dl.doubtnut.com/l/_gc8xOa2F2io5
https://dl.doubtnut.com/l/_0Yx5eBtxaUI2
https://dl.doubtnut.com/l/_G3GJnak1E6US
https://dl.doubtnut.com/l/_qNHs3OtEPnxk

7. Find the value of k for which the following system of equations has a

unique solution: 4 + ky+8 =0, 2z +2y+2=0

° Watch Video Solution

8. Find the value of k for which the following system of equations has a

unique solution: 4z — 5y = k, 2x — 3y = 12

° Watch Video Solution

kx +3y=k—3
12z +ky=k

o Watch Video Solution

10. Show that the system of equations.
2z — 3y = 5,6z — 9y = 15.

has an infinite number of solutions.



https://dl.doubtnut.com/l/_Iz01ouekDZVW
https://dl.doubtnut.com/l/_A7GMDYv105JA
https://dl.doubtnut.com/l/_SchRT1W7Nxjc
https://dl.doubtnut.com/l/_W5Lik6KPpUWK

l ) Watch Video Solution J

11. Show that the system of equations
15
6z + 5y = 11, 9z + 73/:21.

has no solution

o Watch Video Solution

12. For what value of k does the system of equations
kx +2y =5,3z — 4y = 10

have (i) a unique solution, (ii)no solution ?

o Watch Video Solution

13. For what value of k , will the system of equations
x+2y=25, 3x+ky—15=0 has (i) a unique solution? (ii) no

solution

| o Watch Video Solution


https://dl.doubtnut.com/l/_W5Lik6KPpUWK
https://dl.doubtnut.com/l/_NXS3AKiBTxnv
https://dl.doubtnut.com/l/_FGDT4rgYF8Kn
https://dl.doubtnut.com/l/_qn2a5w7WNHHT

14. For what value of k does the system of equations
x+2y=3,5z+ky+7=0

have (i) a unique solution, (ii) no solution ?

Also, show that there is no value of k for which the given system

equations has infinitely many solutions.

o Watch Video Solution

15. For what value of k does the system of linear equations 2z + 3y = 7

(k — 1)z + (k + 2)y = 3k have an infinite number of solutions

o Watch Video Solution

i 2+ (k—2)y=k
"6z + (2k— 1)y =2k +5

° Watch Video Solution



https://dl.doubtnut.com/l/_qn2a5w7WNHHT
https://dl.doubtnut.com/l/_PvJbFkIDeHHx
https://dl.doubtnut.com/l/_9nFncnsiUhSJ
https://dl.doubtnut.com/l/_kTacMse6ir4K
https://dl.doubtnut.com/l/_RbADfGiTz0SY

17. Find the value of k for which following system of equations have

infinitely many solution: kx + 3y =2k +1, 2(k+ 1)z +9y="7k+1

° Watch Video Solution

18. Find the value of k for infinite solutions: 5z + 2y = 2k,

2k + 1)z + ky = (3k + 4)

° Watch Video Solution

19.(k — 1)z —y =5,

(k+ Dz + (1—k)y = (3k + 1)

° Watch Video Solution

k-3 3y==k
20, K =3z + 3y
kx + ky = 12

° Watch Video Solution



https://dl.doubtnut.com/l/_RbADfGiTz0SY
https://dl.doubtnut.com/l/_e6APLaRZ8vUj
https://dl.doubtnut.com/l/_FIgp5u6nIcmB
https://dl.doubtnut.com/l/_xTwYGeRmO0G5

2. (a — )z 4+ 3y = 2,

6z + (1 — 2b)y = 6.

° Watch Video Solution

” (2a—1)z+3y—5=0
"3z+(b-1)y—2=0

° Watch Video Solution

23. If 22 —3y=7 and (a+b)x — (a +b—3)y=4a+ b represent

coincident lines, then a and b satisfy the equation ?

o Watch Video Solution

24. Find the values of a and b for which the following system of linear

equations has infinitely many solutions


https://dl.doubtnut.com/l/_xTwYGeRmO0G5
https://dl.doubtnut.com/l/_vtHad2dlLVGW
https://dl.doubtnut.com/l/_AKU9x58CamSg
https://dl.doubtnut.com/l/_xRH7ys9rhPTP
https://dl.doubtnut.com/l/_ERl7ahcbWeg3

2¢ + 3y =1,

(a+b+Dz+(a+20+2)y=4(a+bd) +1

° Watch Video Solution

25.2x + 3y =17,

(a +b)z + (2a — b)y = 21.

° Watch Video Solution

26. If the system of equations 2x + 3y = 7 and 2ax + (a + b) y = 28 has

infinitely many solutions, then which one of the following is correct ?

° Watch Video Solution

27.8x + by = 9, kx + 10y = 15.

° Watch Video Solution



https://dl.doubtnut.com/l/_ERl7ahcbWeg3
https://dl.doubtnut.com/l/_z9FCBIFwP5cN
https://dl.doubtnut.com/l/_Q37dYh4J5Vj0
https://dl.doubtnut.com/l/_flM4Ln42RSaG
https://dl.doubtnut.com/l/_orRq4c6H0PHN

28.kx + 3y = 3, 12x + ky = 6.

° Watch Video Solution

29.3z —y—5=0,6z —2y+ k = 0(k # 0)

° Watch Video Solution

30kx +3y=k—3,12x + ky =k

° Watch Video Solution

31. Find the value of k for which the system of equations

5x - 3y =0, 2x+ky =0 has anonzero solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_orRq4c6H0PHN
https://dl.doubtnut.com/l/_AIdLbRtyVnkm
https://dl.doubtnut.com/l/_r2sEewdMYHBl
https://dl.doubtnut.com/l/_FsWIcjBZ5e26

1. 5 chairs and 4 tables together cost ¥ 5600, while 4 chairs and 3 tables

together cost ¥ 4340. Find the cost of a chair and that of a table.

° Watch Video Solution

2. 23 spoons and 17 forks together cost ¥ 1770, while 17 spoons and 23

forks together cost ¥ 1830. Find the cost of a spoon and that of a fork.

° Watch Video Solution

3. A lady has only 25-paisa and 50-paisa coins in her purse. If she has 50

coins in all totalling 19.50, how many coins of each kind she have?

° Watch Video Solution



https://dl.doubtnut.com/l/_r0Yd8NmR8lDK
https://dl.doubtnut.com/l/_4O8Fp18bmLkW
https://dl.doubtnut.com/l/_PQHYqIukeMrA

4, The sum of two numbers is 137 and their difference is 43. Find the

numbers.

° Watch Video Solution

5. Find two numbers such that the sum of twice the first and thrice the

second is 92, and four times the first exceeds seven times the second by 2.

° Watch Video Solution

6. Find two numbers such that the sum of thrice the first and the second

is 142, and four times the first exceeds the second by 138.

° Watch Video Solution

7.1f 45 is subtracted from twice the greater of two numbers, it results in

the other number. If 21 is subtracted from twice the smaller number, it


https://dl.doubtnut.com/l/_BjhMMNaqwBdJ
https://dl.doubtnut.com/l/_thj5pAPDNpL5
https://dl.doubtnut.com/l/_74fJJ33BMagQ
https://dl.doubtnut.com/l/_Yct2TZW5rkcz

results in the greater number. Find the numbers.

° Watch Video Solution

8. If three times the larger of two numbers is divided by the smaller, we
get 4 as the quotient and 8 as the reamainder. If five times the smaller is
divided by the larger, we get 3 as the quotietnt and 5 as the remainder.

Find the numbers.

° Watch Video Solution

9.If 2 is added to each of two given numbers, their ratio becomes 1 : 2.
However, if 4 is subtracted from each of the given numbers, the ratio

becomes 5 : 11. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_Yct2TZW5rkcz
https://dl.doubtnut.com/l/_Jw6sAqmyZaMq
https://dl.doubtnut.com/l/_FjQruza8oHtj

10. The difference between two numbers is 14 and the difference between

their squares is 448. Find the numbers.

° Watch Video Solution

1. The sum of the digits of a two-digit number is 12. The number obtained
by interchanging its digits exceeds the given number by 18. Find the

number.

° Watch Video Solution

12. A number consisting of two digits is seven times the sum of its digits.
When 27 is subtracted from the number, the digits are reversed. Find the

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_QyNB5Pny4X5z
https://dl.doubtnut.com/l/_fzaYt97HzKnF
https://dl.doubtnut.com/l/_jqhCEA95ttc8

13. The sum of digits of a two digit number is 15. The number obtained by
reversing the order of digits of the given number exceeds the given

number by 9. Find the given number.

° Watch Video Solution

14. A two-digit number is 3 more than 4 times the sum of its digits. If 18 is

added to the number, the digits are reversed. Find the number.

° Watch Video Solution

15. A number consists of two digits. When it id divided by the sum of its
digits, the quotient is 6 with no remainder. When the number is

diminished by 9, the digits are reversed. Find the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_3yhBZoL2kn7m
https://dl.doubtnut.com/l/_RrV5qiqHlvAM
https://dl.doubtnut.com/l/_ivxdgrmJhfA0

16. A two-digit number is such that the product of its digits is 35. If 18 is
added to the number, the digits interchange their places. Find the

number.

° Watch Video Solution

17. A two digit number is such that the product of its digits is 18. When 63
is subtracted from the number, the digits interchange their places. Find

the number.

° Watch Video Solution

18. The sum of a two digit number and the number obtained by reversing
the order of its digits is 121, and the two digits differ by 3. Find the

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_GQboeQB2nkl7
https://dl.doubtnut.com/l/_qYjYCgPSE24c
https://dl.doubtnut.com/l/_BA6V2hQHrsrO
https://dl.doubtnut.com/l/_kCKHhZ3vdPh5

19. The sum of the numerator and denominator of a fraction is 8. If 3 is
added to both of the numerator and the denominator, the fraction

3
becomes T Find the fraction.

° Watch Video Solution

1
20.If 2 is added to the numerator of a fraction, it reduces to 2 and if 1is

1
subtracted from the denominator, it reduces to 3 Find the fraction.

° Watch Video Solution

21. The denominator of a fraction is greater that its numerator by 11. If 8
3
is added to both its numerator and denominator, it becomes 1 Find the

fraction .

° Watch Video Solution



https://dl.doubtnut.com/l/_kCKHhZ3vdPh5
https://dl.doubtnut.com/l/_way40dxpHBAF
https://dl.doubtnut.com/l/_QhbxuV7tRq9B

22.1n a given fraction, if 1 subtracted from the numberator and 2 is added

1
to the denominator, it becomes 7 If 7 is subtracted from the numerator

1
and 2 is subtracted from the denominator, it becomes 3 The fraction is

° Watch Video Solution

23. The sum of the numerator and denominator of a fraction is 4 more
than twice the numerator. If the numerator and denominator are

increased by 3, they are in the ratio 2 : 3. Determine the fraction.

° Watch Video Solution

24. The sum of two numbers is 16. The sum of their reciprocals is 1/3. Find

the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_uN4Ahb7SDcJM
https://dl.doubtnut.com/l/_CJd2ZMrK5Qr9
https://dl.doubtnut.com/l/_DrPpU3B8cCxX

25. There are two examination rooms A and B. If 10 candidates are sent A
and B, the number of students in each room is same. If 20 candidates are
sent from B to A, the number of students in A is double the number of

students in B. Find the number of students in each room.

o Watch Video Solution

26. Taxi charges in a city consist of fixed charges and the remaining
depending upon the distance travelled in kilometres. If a man travels 80
kg, he pays ¥ 1330, and travelling 90 km, he pays ¥ 1490. Find the fixed

charges and rate per km.

o Watch Video Solution

27. A part of monthly hostel charges is fixed and the remaining depends
on the number of days one has taken food in the mess. When a student A

takes food for 25 days he has to pay 4500 as hostel charges whereas a


https://dl.doubtnut.com/l/_Dm5dE0puz2Gc
https://dl.doubtnut.com/l/_T2Gtb5PVHjaV
https://dl.doubtnut.com/l/_Qjq17ztVCS07

student who takes B food for 30 days, pays 5200 as hostel charges. Find

the fixed charges per month and the cost of food per day.

o Watch Video Solution

28. A man invested an amount at 10% per annum and another amount at
8% per annum simple interest. Thus, he received ¥ 1350 as annul interest.
Had he interchanged the amounts invested, he would have received ¥ 45

less as interest. What amounts did he invest at different rates ?

o Watch Video Solution

29. The monthly incomes of A and B are in the ratio 5 : 4 and their
monthly expenditures are in the ratio 7:5. If each saves ¥ 9000 per month,

find the monthly income of each.

o Watch Video Solution



https://dl.doubtnut.com/l/_Qjq17ztVCS07
https://dl.doubtnut.com/l/_gNY9AFCMqqw9
https://dl.doubtnut.com/l/_3n8Iy2rBT8e1

30. A man sold a chair and a table together for Rs.1, 520 thereby making

a profit of 25 % on the chair and 10

30. on the table. By selling them together for rs 1535 he could have
made a profit of 10 % on the chair and 25 % on the table. Find the

cost price of each

° Watch Video Solution

31. Points A and B are 70 km. apart on a highway. A car starts from
A and another car starts from B simultaneously. If they travel in the
same direction, they meet in 7 hours, but if they travel towards each

other, they meet in one hour. Find the speed of the two cars.

° Watch Video Solution

32. A train covered a certain distance at a uniform speed. If the train

had been 5 kmph faster, it would have taken 3 hours less than the


https://dl.doubtnut.com/l/_dwt3J7G4xhgC
https://dl.doubtnut.com/l/_eA5R5QCRa9eJ
https://dl.doubtnut.com/l/_uRKcil4uGOLh
https://dl.doubtnut.com/l/_dwt3J7G4xhgC

scheduled time. And, if the train were slower by 4 kmph, it would
have taken 3 hours more than the scheduled time. Find the length of

the journey.

° Watch Video Solution

33. Abdul traveled 300km by train and 200km by taxi, it took him 5
hours 30minutes But if he travel 260 km by train and 240 km by bus

he takes 6 minutes longer Find the speed of the train and of the taxi

° Watch Video Solution

34. Places A and B are 160 km apart on a highway. One car starts
from A and another from B at the same time. If they travel in the
same direction, they meet in 8 hours. But, if they travel towards each

other, they meet in 2 hours. Find the speed of each car.

° Watch Video Solution



https://dl.doubtnut.com/l/_uRKcil4uGOLh
https://dl.doubtnut.com/l/_sQi0NI9Gzp6S
https://dl.doubtnut.com/l/_iQTUR68cZv62
https://dl.doubtnut.com/l/_imy5vo3BIqiZ

35. A sailor goes 8 km downstream in 40 minutes and returns in 1
hours. Determine the speed of the sailor in still water and the speed

of the current.

° Watch Video Solution

36. A boat goes 12 km upstream and 40 km downstream in 8 hours. It
can go 16 km upstream and 32 km downstream in the same time.

Find the speed of the boat in still water and the speed of the stream.

° Watch Video Solution

37.2 women and 5 men can together finish an embroidery work in 4
days, while 3 women and 6 men can finish it in 3 days. Find the time
taken by 1 woman alone to finish the work, and also that taken by 1

man alone.

° Watch Video Solution



https://dl.doubtnut.com/l/_imy5vo3BIqiZ
https://dl.doubtnut.com/l/_QUl4zUNG7MF9
https://dl.doubtnut.com/l/_UN8oRuiNIupk
https://dl.doubtnut.com/l/_bEQbEhMKdBiC

38. The lenght of a room exceeds its breadth by 3 meters. If the
lenght is increased 3 meters and the breadth is decreased by 2
meters, the area remaings the same. Find the lenght and the

breadth of the room.

° Watch Video Solution

39. The area of rectangle gets reduced by 8m?, when its length is
reduced by 5 m and its breadth is increased by 3m. If we increase the
lenght by 3m and breadth by 2m then area increase by 74m? of the

rectangle. Find the length and breadth of rectangle

° Watch Video Solution

40.The area of a rectangle gets reduced by 67 square meters, when
its length is incrased by 3m and breadth is decred by 4m. If the
lenght is reduced by 1 m breadth is incrased by 4m, the area is

incrased by 89 square meters. Find the dimesions of the rectangle.


https://dl.doubtnut.com/l/_bEQbEhMKdBiC
https://dl.doubtnut.com/l/_nEUlNfRxHxbL
https://dl.doubtnut.com/l/_NbMhmUKbMdlR

° Watch Video Solution

41. A railways half ticket costs half the full fare and the resrvation
charge is the same of half ticket as on full ticket. One reserved first
class ticket form Mumbai to Delhi cost ¥4150 while one full and one
half reserved first class ticket cost ¥6255. What is the basic first class

full fare and what is the reservation charges?

° Watch Video Solution

42. Five years hence, fathers age will be three times the age of his
son. Five years ago, father was seven times as old as his son. Find

their present ages.

° Watch Video Solution

43. Two years ago, a father was five times as old as his son. Two years

later, his age will be 8 more than three times the age of the son. Find


https://dl.doubtnut.com/l/_NbMhmUKbMdlR
https://dl.doubtnut.com/l/_RrUAcG9EbgEp
https://dl.doubtnut.com/l/_QxLEnrdIsqde
https://dl.doubtnut.com/l/_VuIAGjEuVvbe

the present ages of father and son.

A.37]5

B.47,5

C. 42,10

D. 32,20

Answer: C

o Watch Video Solution

44. If twice the sons age in years is added to the fathers age, the

sum is 70. But if twice the fathers age is added to the sons age, the

sum is 95. Find the ages of father and son.

A. 30 years, 25 years

B. 50 years, 5 years

C. 40 years, 15 years


https://dl.doubtnut.com/l/_VuIAGjEuVvbe
https://dl.doubtnut.com/l/_5gV2r2Z95VhI

D. none of these

Answer: C

° Watch Video Solution

45.The present age of a woman is 3 years more than three times the
age of her daughter. Three years hence, the woman's age will be 10
years, more than twice the age of her daughter. Find their present

ages.

° Watch Video Solution

46. On selling a tea-set 5% loss and a lemon-set at 15% gain, a
crockery seller gains Rs. 7. If he sells the tea-set at 5% gain and the
lemon-set at 10% gain, he gains Rs. 13. Find the actual price of the

tea-set and the lemon-set.

° Watch Video Solution



https://dl.doubtnut.com/l/_5gV2r2Z95VhI
https://dl.doubtnut.com/l/_fouyQRmmVBp3
https://dl.doubtnut.com/l/_9G3cA67c4T2E

47. Alending library has a fixed charge for the first three days and an
additional charge for each day thereafter. Saritha paid Rs 27 for a
book kept for seven days, while Susy paid Rs 21 for the book she kept

for five days. Find the fixed charge and the charge for each extra day.

° Watch Video Solution

48. A chemist has one solution containing 50% acid and a second
one containing 25% acid. How much of each should be used to make

10 litres of a 40% acid solution?

° Watch Video Solution

49. A jeweller has bars of 18 carat gold and 12 carat gold. How much
of each must be melted together to obtain a bar of 16 carat gold,

weighing 120g (Given pure gold is of 24 carat.)?

° Watch Video Solution



https://dl.doubtnut.com/l/_9G3cA67c4T2E
https://dl.doubtnut.com/l/_ldDzmgVIgoI5
https://dl.doubtnut.com/l/_R3SqYwZOkE7s
https://dl.doubtnut.com/l/_XgHbwkvvab8p

50.90% and 97% pure acid solutions are mixed to obtain 21 litres of
95% pure acid solution. Find the quantity of each type of acids to be

mixed to from the mixture.

° Watch Video Solution

51. The larger of two supplementary angles exceeds the smaller by 18

degrees. Find them.

° Watch Video Solution

52. In a ABC , LA = zo, /B = (3z —2)o, ZC = yo . Also,

ZC — ZB = 90 .Find the three angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_XgHbwkvvab8p
https://dl.doubtnut.com/l/_8dMMOvS64WPN
https://dl.doubtnut.com/l/_0Laalk0zFFwD
https://dl.doubtnut.com/l/_OxnFaMTlNV96

53. In a cyclic quadrilateral ABCD ,
LA = 2z +4)o, /B = (y+3)o, £LC = (2y+ 10)o, 4D = (4z — 5)

. Find the four angles.

o Watch Video Solution

1. Write the number of solutions of the following pair of linear

equations: z + 2y — 8 =0, 2z 4 4y =16

° Watch Video Solution

2. For what value of k does the system of linear equations
2c + 3y =7 (k — 1)z + (k + 2)y = 3k have an infinite number of

solutions

° Watch Video Solution



https://dl.doubtnut.com/l/_lnuB1ldEp1vn
https://dl.doubtnut.com/l/_rozNP6QpI0D2
https://dl.doubtnut.com/l/_4YBElmsRLbqB

3. For what value of k , the following pair of linear equations has
infinitely many solutions?

10z +5y—(k—5) =0, 20z+10y—k=0

° Watch Video Solution

4. For what value of k will the following pair of linear equations have
no solution ?

2¢ +3y—4=0and 2z +6y—7=0

° Watch Video Solution

5. Write the number of solutions of the following pair of linear

equations:z +3y—4=0, 2x+6y=7

° Watch Video Solution



https://dl.doubtnut.com/l/_4YBElmsRLbqB
https://dl.doubtnut.com/l/_U5xnE72Yp3js
https://dl.doubtnut.com/l/_DZmAvL20PDRO
https://dl.doubtnut.com/l/_CQyQ2mdrxVLt

6. Write the value of k for which the system of equations

3z + ky = 0, 2x — y = 0 has a unique solution.

° Watch Video Solution

7. The difference between two numbers is 5 and the difference

between their squares is 65. Find the numbers.

° Watch Video Solution

8.The cost of 5 pens and 8 pencils is ¥ 120, while the cost of 8 pens

and 5 pencils is ¥ 153. Find the cost of 1 pen and that of 1 pencil.

° Watch Video Solution

9. The sum of two numbers is 80. If the larger number exceeds four

times the smaller one by 5. Find the numbers.

[ |


https://dl.doubtnut.com/l/_IofZOKJdkx8V
https://dl.doubtnut.com/l/_6WQyeE9TCYnL
https://dl.doubtnut.com/l/_I3u5klJF9NYR
https://dl.doubtnut.com/l/_03O3p9zVXofg

[ 0 Watch Video Solution

10. A number consists of two digits whose sum is 8 if 18 is added to

the number its digits are reversed find the number

° Watch Video Solution

11. A man purchased 47 stamps of 20 p and 25 p for ¥ 10. Find the

number of each type of stamps.

° Watch Video Solution

12. A man has some hens and cows. If the number of heads be 48 and

number of feet be 140, how many cows are there ?

A. 26

B. 25

C. 22


https://dl.doubtnut.com/l/_03O3p9zVXofg
https://dl.doubtnut.com/l/_7zf0RWlA4w1V
https://dl.doubtnut.com/l/_270ObQ0H7ESz
https://dl.doubtnut.com/l/_pFHTaW9wED2S

D. 23

Answer: C

o Watch Video Solution

13. Solve the following system of equations:
2 3 9 4 9 21
sty 7y wy,werew#,y#

o Watch Video Solution

1a0f Z Y~ 2 and T 4y — 1 then find the value of
. Z—l—g—ﬁan 5 ty= en find the value of (z + y).

o Watch Video Solution

15. If 122 + 17y = 53 and 17z + 12y = 63 then find the values of

(z +y)

o Watch Video Solution



https://dl.doubtnut.com/l/_pFHTaW9wED2S
https://dl.doubtnut.com/l/_olJ6ZCe7TX6u
https://dl.doubtnut.com/l/_oUccywpjA2H6
https://dl.doubtnut.com/l/_gBcOwTLHf5wL

16. Find the value of k for which the system of equations
3z +5y=0,kxr + 10y =0

has a nonzero solution.

D. k=12

Answer: B

o Watch Video Solution

17. Find the values(s) of k for which the system of equations
kx —y = 2 6x — 2y = 3 has (i) a unique solution (ii) no solution. s

there a value of k for which the system has infinitely many solutions?

o Watch Video Solution



https://dl.doubtnut.com/l/_gBcOwTLHf5wL
https://dl.doubtnut.com/l/_GKGl8j1gmCcv
https://dl.doubtnut.com/l/_aPC9bhYuoWi4

18. The value of k for which the system of equations
2x + 3y =5, 4z + ky = 10 has infinite number of solutions, is
Al
B.3
C.6

D.O

Answer: C

° Watch Video Solution

19. Show that the system 2x + 3y — 1 = 0,4x + 6y — 4 = 0 has no

solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_aPC9bhYuoWi4
https://dl.doubtnut.com/l/_3mjaELd4CtS3
https://dl.doubtnut.com/l/_aYObS3vwU4mL
https://dl.doubtnut.com/l/_CmUvMPtagm6Q

20. Find k for which the system z 4+ 2y = 3 and 5z + ky + 7 = 0is

inconsistent.

o Watch Video Solution

3 2 9 4
21.Solve : + = 2 and — =1.
T +y T -y T +y r—y

o Watch Video Solution

Multiple Choice Questions Mcq

1.If 2z + 3y = 12 and 3z — 2y = 5 then

Az =2,y=3
Bz =2,y= —3
Cx=3,y=2


https://dl.doubtnut.com/l/_CmUvMPtagm6Q
https://dl.doubtnut.com/l/_92OlOySCAjir
https://dl.doubtnut.com/l/_jR2299rsFUms

Answer: C

° Watch Video Solution

2 1
2.Ifm—y:2a,ndw—+y=gthen
Az =4y=2
B.z =5,y=3
Cx=6y=14
D.x =T7,y=25
Answer: C
° Watch Video Solution
s Yl g B g
T3 T gt T At g g T omen


https://dl.doubtnut.com/l/_jR2299rsFUms
https://dl.doubtnut.com/l/_xZ0UnsmFlpCM
https://dl.doubtnut.com/l/_vpDM0mjO3P5F

Cx=2,y= —3
Dz= —2,y= —3
Answer: A

° Watch Video Solution

1 2 3 1
4.If — 4+ — =4 and — — — = 11 then
T y Y T

Az =2,y=3
B.x = — 2,y =
-1
Cw:T,'y: _3
-1 1
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vpDM0mjO3P5F
https://dl.doubtnut.com/l/_o1KzAgNr8vQ4
https://dl.doubtnut.com/l/_T8VkuAP8mPIe

2v +y+ 2 3r —y+1 2z + 2y +1

5.If th
5 3 6 en
Az=1y=1
Br= —-1ly= —1
Cx=1y=2
D.z =2,y=1
Answer: A
° Watch Video Solution
2 9 4
6. Solve : + = 2 and = 1.
r+y r—vy r+y r—y
A _1 _3
.x—z,y_2
B _5 _1
.m—2,y—2
c _3 _1
.:c—2,y—2
b _1 _5
.x—z,y—z.



https://dl.doubtnut.com/l/_T8VkuAP8mPIe
https://dl.doubtnut.com/l/_DtOh3tyJGrtk

Answer: B

° Watch Video Solution

7.1f 4z + 6y = 3zy and 8z + 9y = Szy then

Az=2y=3
Bz =1,y=2
Cz=3,y=4
Dx=1ly= —1
Answer: C

° Watch Video Solution

8.1f 29z + 37y = 103 and 37z + 29y = 95 then

Az =1y=2


https://dl.doubtnut.com/l/_DtOh3tyJGrtk
https://dl.doubtnut.com/l/_s9Ohx4ALtnDb
https://dl.doubtnut.com/l/_7i0BcPKf3Pvy

Cx=3,y=2
Dz =2,y=3
Answer: A

o Watch Video Solution

9.1f2° ¥ = 277¥ = /8 then the value of y is

>

w
o o=

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7i0BcPKf3Pvy
https://dl.doubtnut.com/l/_bxrwrEz50aZ6
https://dl.doubtnut.com/l/_Y0YNCYE8r9NI

w

D.ng,yzl

Answer: B

° Watch Video Solution

1. The system kz — y = 2 and 6z — 2y = 3 has a unique solution

only when

Ak=0

B.k # 0

Ck=3

D.k # 3


https://dl.doubtnut.com/l/_Y0YNCYE8r9NI
https://dl.doubtnut.com/l/_bE1DspRuS89z

Answer: D

° Watch Video Solution

12. The system z — 2y = 3 and 3z + ky = 1 has a unique solution,

when

Ak= —6

B.k# —6

Ck=0

D.k # 0

Answer: B

o Watch Video Solution

13. For what value of k does the system of equations z + 2y = 3 and

5 + ky 4+ 7 = 0 have no solution


https://dl.doubtnut.com/l/_bE1DspRuS89z
https://dl.doubtnut.com/l/_Oi7tEt8Ke9uo
https://dl.doubtnut.com/l/_yexYdrR6SJaK

A k=10

B.k # 10

Ck=—

D.k= —21

Answer: A

° Watch Video Solution

14. If the lines given by 3z 4+ 2ky = 2 and 2z + 5y + 1 =0 are

parallel, then the value of k is



https://dl.doubtnut.com/l/_yexYdrR6SJaK
https://dl.doubtnut.com/l/_Nr9FntW1BLsF

l ° Watch Video Solution

15. For what value of k do the equations kzr — 2y =3 and

3z + y = b represent two lines intersecting at a unique point?

A .k = 3only
B.k = — 3only
C.k = 6only

D. all real values except — 6

Answer: D

° Watch Video Solution

16. The pair of equations z +2y+5=0and -3z —6y+1=0

has

A. a unique solution


https://dl.doubtnut.com/l/_Nr9FntW1BLsF
https://dl.doubtnut.com/l/_z5C4u3U2QmCg
https://dl.doubtnut.com/l/_CXBqApj4rJ6R

B. exactly two solutions

C.infinitely many solutions

D. no solution

Answer: D

° Watch Video Solution

17. The pair of equations z +2y+5=0and -3z —6y+1 =0

has

A. a unique solution

B. exactly two solutions

C. infinitely many solutions

D. no solution

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CXBqApj4rJ6R
https://dl.doubtnut.com/l/_QhvnrNem8UC2

18. If a pair of linear equations is consistent then their graph lines

will be

A. parallel

B. always coincident

C. always intersecting

D. intersecting or coincident

Answer: D

° Watch Video Solution

19. If a pair of linear equations is inconsistent then their graph lines

will be

A. parallel

B. always coincident


https://dl.doubtnut.com/l/_QhvnrNem8UC2
https://dl.doubtnut.com/l/_YW9YzUf0SgL7
https://dl.doubtnut.com/l/_qSLiQjqf0SYd

C. always intersecting

D. intersecting or coincident

Answer: A

° Watch Video Solution

20.Ina AABC, /C = 3/B = 2(LA + £B),then /B =?

A.20°
B.40°
C.60°

D.80°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qSLiQjqf0SYd
https://dl.doubtnut.com/l/_uav0XioS0yR9

21. In a cyclic quadrilateral ABCD, it is being given that
/A=(zx+y+10)°,/B=(y+20)°,2C = (x +y—30)° and 4D :
.Then, Z/B?

A.T70°

B.80°

C.100°

D.110°

Answer: B

° Watch Video Solution

22. The sum of digits of a two-digit number is 15. The number
obtained by reversing the order of digits of the given number

exceeds the given number by 9. Find the given number.

A. 96


https://dl.doubtnut.com/l/_s9px62NMSzXd
https://dl.doubtnut.com/l/_LUUZHerEe1lq

B. 69

C.87

D.78

Answer: D

° Watch Video Solution

23.In a given fraction, if 1 subtracted from the numerator and 2 is
1

added to the denominator, it becomes 3 If 7 is subtracted from the

numerator and 2 is subtracted from the denominator, it becomes 3

The fraction is

A
24

15
26
16
27
16

D. —
21


https://dl.doubtnut.com/l/_LUUZHerEe1lq
https://dl.doubtnut.com/l/_yyL2tsh4MKoQ

Answer: B

° Watch Video Solution

24. 5 years hence, the age of a man shall be 3 times the age of his

son while 5 years earlier the age of the man was 7 times the age of

his son. The present age of the man is

A. 45 years

B. 50 years

C. 47 years

D. 40 years

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yyL2tsh4MKoQ
https://dl.doubtnut.com/l/_pDLTbJRkirpZ

25. The graphs of the equations

6z — 2y +9 =0 and 3x — y + 12 = 0 lines which are

A. coincient

B. parallel

C.intersecting exactly at one point

D. perpendicular to each other

Answer: B

° Watch Video Solution

26. The graphs of the equations 2z +3y—2=0 and

x — 2y — 8 = 0 lines which are

A. coincident

B. parallel

C.intersecting exactly at one point


https://dl.doubtnut.com/l/_atPL4cI29CJf
https://dl.doubtnut.com/l/_OGT5tZ0I3gzJ

D. perpendicular to each other

Answer: C

o Watch Video Solution

24
27. The graphs of the equations 5z — 15y = 8 and 3z — 9y = =

are two line which are

A. coincident

B. parallel

C.intersecting exactly at one point

D. perpendicular to each other

Answer: A

o Watch Video Solution

Test Yourself



https://dl.doubtnut.com/l/_OGT5tZ0I3gzJ
https://dl.doubtnut.com/l/_DoARMkvWCJFA

1. The graphical representation  of the  equations

x + 2y =3 and 2z + 4y + 7 = 0 gives a pair of

A. parallel lines

B. intersecting lines

C. coincident lines

D. none of these

Answer: A

° Watch Video Solution

2. Find the values of a and b for which the following system of linear
equations has infinite number of solutions:

2c —3y=7 (a+bzr—(a+b—3)y=4a+b


https://dl.doubtnut.com/l/_HAP4KkSuJSNI
https://dl.doubtnut.com/l/_4QAEjZcNPP7j

Answer: D

° Watch Video Solution

3.The pair of equations 2z + y = 5, 3z 4+ 2y = 8 has

A. a unique solution

B. two solutions

C. no solution

D. infinitely many solutions

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4QAEjZcNPP7j
https://dl.doubtnut.com/l/_Fv1kwPxYZISB

4.If zr = — y and y > 0, which of the following is wrong ?

Az’y >0

Bz+y=0

Answer: D

° Watch Video Solution

5. Show that the system of equations
1 1
—z+2y+2=0and 3T 3Y - 1 = 0 has a unique solution.

° Watch Video Solution

6. For what values of k is the system of equations

kx +3y=k—2


https://dl.doubtnut.com/l/_PoLK6GMZn59Y
https://dl.doubtnut.com/l/_3IuchCYe3ViG
https://dl.doubtnut.com/l/_nm3WCCkXT1UC

122 + ky =k

inconsistent ?

Ak= +6
B.k = —6only
C.k = 6only

D. none of these

Answer: A

° Watch Video Solution

) 3r 5y 7
7. Show that the equations 9z — 10y = 21, > "3 -3 have

infinitely many solutions.

o Watch Video Solution

8.Solve graphically: z — 2y = 0; 3 + 4y = 20

[ |


https://dl.doubtnut.com/l/_nm3WCCkXT1UC
https://dl.doubtnut.com/l/_Ugcsor7ZbVFm
https://dl.doubtnut.com/l/_rmG77fhxF4Ic

l & Watch Video Solution J

9. Two straight paths are represented by the equations z — 3y = 2
and —2x + 6y = 5. Check whether the paths cross each other or

not.

° Watch Video Solution

10. The difference between two numbers is 26 and one number is

three times the other. Find them.

A.30,15

B. 36, 12

C.39,13

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rmG77fhxF4Ic
https://dl.doubtnut.com/l/_hlgmFIOQKOnt
https://dl.doubtnut.com/l/_RwExYrVoH9H1

11. Solve : 23z + 29y = 98, 292 + 23y = 110.

Az =3y=1

Bz = —3,y=1

Cxz=3y= —1

Dz = —3,y= —1
Answer: A

° Watch Video Solution

12.Solve: 6z + 3y = Txy and 3z + 9y = 1lxy.

3
-3
szl,y:T
3
szl,yZE
D.z = —1,y—_—


https://dl.doubtnut.com/l/_RwExYrVoH9H1
https://dl.doubtnut.com/l/_9Op2mm8dBc64
https://dl.doubtnut.com/l/_fIGro4HMxQ8o

Answer: C

o Watch Video Solution

13. Find the value of k for which the systemkx +2y =53z +y =1

has (i) a unique solution, and (ii) no solution.

o Watch Video Solution

14.1na AABC, /C = 34B = 2(£A + ZB). Find the measure of
Z£C.

A.20°

B.40°

C.120°

D. none of these

Answer: C



https://dl.doubtnut.com/l/_fIGro4HMxQ8o
https://dl.doubtnut.com/l/_WCR3DiD3hPU8
https://dl.doubtnut.com/l/_ATmwvZ6pVLFg

l ° Watch Video Solution

15. 5 pencils and 7 pens together cost ¥ 195 while 7 pencils and 5
pens together cost ¥ 153. Find the cost of each one of the pencil and

the pen.

° Watch Video Solution

16. Solve the following system of equations graphically:

2¢ —3y=1,4c —3y+1=0.

° Watch Video Solution

17. Find ZA of a cyclic quadrilateral ABCD in which

ZA = (42 +20)°, /B =(3z —5)°,ZC = (4y)° and 4D = (Ty+5)°

A.70°

B.60°


https://dl.doubtnut.com/l/_ATmwvZ6pVLFg
https://dl.doubtnut.com/l/_uTG2Vpl5SYCo
https://dl.doubtnut.com/l/_6Z2o1MkmiH9b
https://dl.doubtnut.com/l/_Tjyk6HTQlgyc

C.120°

D.110°

Answer: C

° Watch Video Solution

18. Solve for

35 14 14 35
: =1 = of.
xandym+y+x_y 9’x+y+:1:—y 37

o Watch Video Solution

19. A fraction becomes %, if 1 is added to both numerator and

denominator. If, however, 5 is subtracted from both numerator and

denominator, the fraction becomes . What is the fraction.

>
ol e

@


https://dl.doubtnut.com/l/_Tjyk6HTQlgyc
https://dl.doubtnut.com/l/_H1Lv9vil27QA
https://dl.doubtnut.com/l/_01TS4VQ3CAXD

ol w|N

Answer: D

o Watch Video Solution

20. Solve
b

ﬁ__y:a—l—b

b a

ar — by = 2ab
Azxz=by=a
Bx= —by= —a
Cz=by= —a
Dx = —by=a

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_01TS4VQ3CAXD
https://dl.doubtnut.com/l/_0UIAJZkYGW2v

1. The age of Mr.X last year was the square of a number and it would

be the cube of a number next year. What is the least number of years

he must wait for his age to become the cube of a number again?

° Watch Video Solution

2. For what value of k do the equation
2 —3y+10 =0 and 3z + ky + 15 =0 represent coincident

lines

° Watch Video Solution



https://dl.doubtnut.com/l/_0UIAJZkYGW2v
https://dl.doubtnut.com/l/_PySaWuP9chTQ
https://dl.doubtnut.com/l/_At0WZIoOYEja

